JOJS52 V) TRBZENMLTHES !

1. mAREHSITOTS LA
4FET dxruby EWVWDISTA TSV EFRAEELDIZT S,

require 'dxruby'
#Image A7V FEER,
imgl = Image.new (640, 480, [0, 0O, 0])
FREVEATRZ ingl ITH<,
imgl.box fi11(100,100,250,200, [255,255,255])
$C IO ERIL—TRE— Lk,
Window.loop do
#imgl FEE ZHE < .
Window.draw (0, 0, 1mgl)

end



2. ALBRERSTOTS LA

#tMAZHw <,

imgl.circle f111(340, 200, 50, C WHITE)
iR 24 < o

imgl.line (20,300,500,30, C YELLOW)

3. EREHRMALTOT S L

require 'dxruby'

#test.png EVWIBE I 7AIILZFHAIAAT imgl EWLVNDRRZF
el »

imgl = Image.load('test.png')

$C DL ERIL—TRE— |,

Window.loop do

#imgl ZHEEL-EEZELE L THEET S,
Window.draw (100, 100, imgl)

end



4, XF—TEZEZEMNTTOTS LA

require 'dxruby'

#test.png EVWDIBEBE I 7AMILZFHEAIAAT ingl ELVND BRIZE
21T 5,

imgl = Image.load('test.png')

HEBROMENHEL VL S7G 5 Dv-2 AICUTOTZED,

#imgl = Image.new (50, 50, C WHITE)

#x & yDEZELOTHIHIET S
x=0;vy=0;
$CCHhLERIL—TRXI2—F,
Window.loop do

#tx &y ZHFLTEDERET ingl ZH <,
x=x+Input.x; y=y+Input.y;
Window.draw(x, vy, 1mgl)

end



5. R—ILE kRS T 0T 5 L

require 'dxruby'

imgl = Image.new (30, 30, C BLACK)
imgl.circle f111(15,15,15,C WHITE)

x=0;
# CETIEBEIZREATZRS, RO dx 1 x ARIDEIES,
dx=1

HAZHMARDEARICRTT DT=DICLLTOXT v ZiRD 5,
y= (Window.height-imgl.height) /2
HERIL—TRAFZ—
Window.loop do
#x Z dx FPITEILSEBO2 x=x+dx £FT D, x+=dx £V

ESHTLHD

X=xX+dx



x4 FODERZIEIAEESICHE >0 ARZERS
1f (x>Window.width-30) then
$AMEEZ D, CClEdx*=-1 EEWVTEHELY,
dx=dx* (-1)
end
Window.draw(x, vy, 1mgl)

end



BEZzR®RodIT0I3 4
require 'dxruby'
#Sound A7V U FEEML T sndl EWDRFIZDIT 5,
sndl = Sound.new ("C:¥¥Windows¥¥Medla¥¥ding.wav'")
HEBIL—TRE— K,
Window.loop do

#% L SPACE F—MHEN/-5 sndl ZBET 5,

1f Input.key push? (K SPACE) then

Sndl.plai_ -

end

end



